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TRIGONOMETRY REVIEW

Unit Circle:

(cosB,sinB)

(-1.0)




Trigonometric Identities:

® Reciprocal

e sind =

csco
e c(cosH =

secH
s tan® = cot®
® (sch =—

sin®
e secH =

cos6
e cotb =

cot®

® Pythagorean

° sinze + cosze =1

° tan26 + 1= secze

2 2
e 1+ cscB=cotH

® Double Angle

® sin20 = 2sinBcosO

e (0s20=1— Zsinze

2tan®

e tan26 = =
1—-tan 0

® Sum to Product

e sinu + sinv = Zsin(uTw)COS( =)

e sinu — sinv = ZCOS(%)Sin( u;v)

o cosu + cosv = 2cos(-5=)cos(-5%)

® (cosu — cosv =— ZSin(uzi)sin( —)

Inverse Trigonometric Functions:

2

® Even and Odd Functions

e sin(— 6) =— sin(0)
e cos(— 6) = cos(0)
e tan(— 0) =— tan(6)
o csc(— 0) =— csc(B)
o sec(— 0) = sec(B)
o cot(— 0) =— cot(0)
® Quotient
e tanb = %
o coth =2

sec®

® Sum and Difference

o sin(u + v) = sin(uw)cos(v) + cos(w)sin(v)
o cos(u + v) = cos(u)cos(v) + sin(w)sin(v)
_ tan()ttan(v)

® tan(u t U) T 1+tan(u)tan(v)
e Half Angle
2 _
e sin0 = 1 c;)sZO
2 1+c0s28
® cosB =—F7—
2, _ 1—cos28
° tan 8 = 1+cos26

® Product to Sum

; o1

sinu - sinv = — [cos(u — v) — cos(u + v)]
cosu - cosv = ; [cos(u — v) + cos(u + v)]
sinu - cosv = ; [sin(u + v) + sin(u — v)]

cosu - sinv = ; [sin(u + v) — sin(u — v)]

¢ Function e Domain * Range
sin-'0 = arcsin® [-1,1] [_E m
2'2
cos18 = arccosd [-1.1] [O.m]
tan18 = arctan® (-%0,%) (_E E)
2'2
cot18 = arccotd (-%0,0) [_E E]
5.0) U (o 5
sec’'® = arcsecOd (--11 U [1,) [ m m
D)o (G
csc'0 = arccscO (-,-1] U [1,0)




